
   

YAMAHA YZF – R3 
 2015  → 

Part Nr. 688 
 
 

8300 

M8 x 25 

DIN7991 

M8 x 20  
DIN7991 

M8 x 25  

DIN7991 

M6 x 12    

DIN7991 

M8 x 50 DIN6921 
+ 807 

M8 x 50 DIN6921 
+ 807 

M6 x 45 DIN7380 
+ 817 + 123121806 

+ M6 DIN985 

 
 

818155 

M6 x 25 DIN7380 

+ 816L + M6 DIN985 

 
 

8490 

819M6R 

872 

813LB 

813RD 880 

810R 

M8 x 20  
DIN7991 


